[image: image1.png]258 Yashohin (1998) discusses a process (or the chemical etehing, of silicon wafy,
wsed fun dntegrated civenits, This process etchen the layer of silicon dioxide v
the layer of metal beneath is reached. This compony monitors the thickie
of the silicon oxide layer because thicker layers vequire longer etching tims,
Historically, the layer has o true mean thickness of 1 micron and a hhmdard :

~ deviation of 0,06 micron, g 3
A recent random sample of four wafers yielde o a sample mean of 1,134, ind
the probability of phserving such a mean or something am.\llu mnmm;;«m |
histaric mean and smndaui deviation,
b, What did you assume in order 1o find this probahiliey?




